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Session 3.3 MIG/MAG DED – Quiz 


Q1.1 Basic principles of MIG

Complete the blanks below;


· Arc is formed between _______electrode __ and____workpiece ___​______.

· ___Inert gas ___ applied through a ____nozzle___to protect against oxidation​.

· _____Filler material___________ is automatically fed into melt pool .


Q1.2 What are the key components of a MIG system (maximum 50 words)

Power source
Torch +cable
Earth clamp + cable
Wire feeder 
Inert gas bottle and regulator (unless flux cored MIG used)


Q1.3 What does MIG stand for ?

Metal Inert gas 

Q1.4 What another name for MIG 
(a) GMAW or (b) GTAW 


What does this stand for ?

(a) Gas Metal Arc Welding  



Q1.5 What is the difference between MIG and MAG ?

In MIG and inert gas is used as the shield 

In MAG an active gas mixture – typically argon + oxygen or carbon dioxide is used as the shield (the gas reacts with ferrous materials to strengthen the material)







Q1.6 What advantages of MIG?  (maximum of 4 bullet points) 

Coaxial wire feed makes process omni directional (without the need to change wire feed direction)
Clean process free from flux contamination 

· A broad number of commercial alloys can be processed
· Welding in possible in multiple positions
· No need of replacing electrode
· Highest deposition rate
· High efficiency of the electrode, up to 93-97%
· Minimum slag is created
· Easiness to adapt to robotised or automated processes


Q1.7 What are the disadvantages of MIG ?   (maximum of 4 bullet points)

· Need of protection against air currents
· High level of radiation and intensity
· Sensible to surface contamination that can create porosity, lack of fusion and cracks. 
· The equipment is more complex than TIG


Q.1.8 What does CMT stand for ?

Cold Metal Transfer 
How does the process work?
Droplets of molten metal are deposited into the weld pool thus reducing temperature rise 



Q1.9  Please these labels the diagram below
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Q1.10 Please these labels the diagram below
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​

Q1.11    Side feeding can result in melt pool asymmetry

a) Why and what does it mean for deposition of shaped parts ?

Metal not added coaxial 

b) Why doesn’t MIG suffer from this problem ?

MIG has coaxial metal feed 


Q1.12What is interpass temperature and why is it important ?

Temperature of the existing bead just prior to deposition of the next layer 

The interpass temperature changes the deposition characteristics (particularly bead shape)

If the interpass temperature rises too high during DED this can cause slumping of the deposit and changes the microstructure and properties and cracking





Q1.13
 
 [image: A picture containing text, invertebrate

Description automatically generated] what does this image show?
Multilayer walls 
· 3 overlapped weld beads, 
· 17 layers in height)  
· no defects !!
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